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£l 2ME SHE 553
HEHME2H 17 49
SR ERITA 25 75
> 2= 47| A EF M
HEHME2Y Aa|xtd - 5 1658, 34 158, 822 08, M2 1H
BT ZAL HHOL - B 125 227 2H, ME 23
> 2 4H
HEHA =2 SHEE2IA
=9 79/(¢l% 15IH) 29((¥% 129)
el E/) 1% 200j 165 4Tj
ANZEEA HOIEH 0% 414 -
AT E4 NTHHE 0% 41 -
= AESA MY 0% 21j .
S US4 YT 0% 214 .
S AESU 0% 10T -
= grjsat 0% 10T -
Of9)0] A|EE A - 75 20
O{9llo] ALY S A - 1155 11304
> 25 F7| 7|2 Hn
| X 523 = St =2 S AL
o s 5
407 SH(B+E+M) 56%
3670(37.11%) BHE3(EEE) 377H(43.02%)
174(0.337H) E2ZYTHMES) 137H(4.337H)
37H(1.007H) MEYSMED) 67(2.007H)

3671(12.007H) HMESSMER) 357H(11.677H)
1474(2.677H) A EYZHMEDR) 2071(5.677H)
507H(16.677H) CAdSMES) 4671(15.337H)
1974 Ha 974
47y HAHQ20HE0|F) 274

* HH(20H 0|%) : ¥E T ot Hol 200 =S AIHEH
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» EE2Z 7|5 Hln
H %523 VS st =2 T Ab
574 No Block 27H
2474 7 07K 1 Block 2271 7 274
5770 / 17 2 Block 7374 7 117
071 7 07H 3 Block 07 / o7
* 227 AY AL A/ 43 He
> SE ME ME Al &0 E27{0f [HE SH7|F Hw
HHME2HE 34 VS SR 2TA BH
178 7 17H(100.0%) No Block 270 7 271(100.0%)
1870 / 77H(38.9%) 1 Block 1970 / 1170(57.9%)
6271 / 2271(35.5%) 2 Block 4578 7 167H(35.6%)
- 3 Block -
*SAMNE ) 4E (838)
> MEQ 37 22
> HEHXE23
E AE %53 AlZERE ol =42
MBS 21(47.7%) 3(06.8%) 3(06.8%) 1(02.3%) 3(06.8%) 13(29.5%)
MNEZ2| 27(73.0%) 5(13.5%) 3(08.1%) 2(05.4%) 0(00.0%) 0(00.0%)
oA 48(59.3%) 8(09.9%) 6(07.4%) 3(03.7%) 3(03.7%) 13(16.0%)
* BANE (BHREHB)
> St 2 A
E AE %3 AlZERE o|ls =42
MBS 9(27.3%) 12(36.4%) 1(03.0%) 5(15.2%) 4(12.1%) 2(06.1%)
ME=< 11(33.3%) 14(42.4%) 4(12.1%) 2(06.1%) 1(03.0%) 1(03.0%)
oA 20(30.3%) 26(39.4%) 5(07.6%) 7(10.6%) 5(07.6%) 3(04.5%)
*SANE (SHZEHE)
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A 140 F7|. HEHXZ28 vs HRE2TAF (ZF, 2022.01.05, 19:00~20:25)

> StEEEEAL (4O

- H0Y oS4 SASH 40008 ZH@4=)/ $R4000H, 25 3F
3

12 ZAF 2017-02-08 LY VS GS / A 46027

> 2 =9

= ME PN

ol 2y &3 s o B7l | SHME HAE sus s3 =K =as A%
1 e Fa= 56 19 1 20 59 15 3933 1,764 1,485 1.188 75
2 St 2 A 45 16 4 20 48 25 1.920 1,700 1,519 1.119 2
3 GSZHA 37 12 8 20 44 26 1.692 1,632 1,505 1.084 15
4 KGCRI&tS A 37 12 8 20 40 29 1.379 1,569 1,504 1.043 11
5 a4y 21 7 13 20 28 44 0.636 1,603 1,679 0.955 11
6 IBK7| 28 9 3 16 19 18 50 0.360 1,384 1,607 0.861 6If
7 | H A =523 5 1 20 21 13 61 0.213 1,442 1,795 0.803 1504
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